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Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of seventy five multiple-choice type of questions.
3. At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of the cover page. Do not accept a
booklet without sticker seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the circle as indicated below on
the correct response against each item.
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where (C) is the correct response.

Example :

Your responses to the question of Paper Ill are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the circles in OMR Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of
OMR Answer Sheet after the examination.

Use only Blue/Black Ball point pen.

Use of any calculator, Electronic gadgets or log table etc.,
is prohibited.

There is no negative marks for incorrect answers.

In case of any discrepancy found in the Kannada
translation of a question booklet the question in English
version shall be taken as final.
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Note : This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Which of the following is a semantic
barrier in communication ?

(A) Network Failure
(B) Ad. Clutter
(C) Language
(D)

D) Virus

2. lllegalities towards woman employee in
the following is

(A) Creche facility

(B) Refusal to hire woman for the
reason she becomes pregnant

(C) Maternity leave
(D) Memo to a woman employee

3. Identify the management functions in
HRM

1. Planning
2. Organizing
3. Directing
4. Controlling

(A) 1,2 and 3 only
(B) 2,3 and 4 only
(C) 1,2and 4 only
(D) 1,2,3and 4
K-1016

4. Maintenance of personnel is concerned
primarily with preserving

1. Physical condition
2. Mental condition
3. Emotional condition

4. All of the above

A) 1 and 2 only

B) 4 only

C) 1 and 3 only
)

(
(
(
(D) 2 and 3 only

5. A modern HR Manager has the
following challenges ahead

1. Altering workforce combination

2. Altering personal values and
expectations of employee

3. Altering productivity levels

4. Altering government demands

(A) 1,2 and 3 only
(B) 1,3 and 4 only
(C) 1,2,3and 4
(D) 1,2 and 4 only
Paper Il
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6. Advantages of ‘Flexi time’ to the

employer are
1. Enhanced productivity

2. Low employee tardiness and
absenteeism

3. Improved morale with reduced
turnover

4. Low morale with reduced turnover

(A) 1 only
(B) 4 only
(C) 1 and 2 only

(D) 1,2 and 3 only

. Assertion (A) : Investments in Training
and Development of employees result
in reducing operational overheads and
increasing productivity levels in the
organizations.

Reasoning (R) : Growth of training
agencies are aiding the needs of
training and development in the
organization.

(A) (A)istrue and (R) is false
(B) (A) is false and (R) is true
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

K-1016
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8. Assertion (A) : Modern technique of

360° performance evaluation is applied
in many organizations for employee
performance appraisal to enable them
a right assessment of themselves.

Reasoning (R) : 360° performance is
encountering negative results since
organizations enforcing it failed to
educate and motivate their employees
towards it.

(A) (A)istrue and (R) is false
(B) (A) is false and (R) is true
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

. Assertion (A) : Modern organizations

are scaling down their size of
recruitment operations as external
recruitment agencies are effectively
performing their role.

Reasoning (R) : Increasing performance
efficiency levels of agencies with
increasing levels of satisfied client
organizations today force the
organizations to close their recruitment
operations.

(A) (A)istrue and (R) is false
(B) (A)and (R) are true
(C) (A) and (R) are false

(D) (A) is false and (R) is true
Paper Il
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(A) 6,1,8,3,2,4,7,93535
(B) 1,6,3,8,2,4,5,7 3329
(C) 6,1,3,8,4,2,9,7 3525
(D) 6,1,3,4,8,7,2,5=39
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10. Assertion (A) : Motivation programmes

11.

based on various concepts of motivation
promise positive results in public sector
organizations in India.

Reasoning (R) : Low morale and
motivation among employees of public
sector is attributed for failure and
irrelevance of these concepts to public

sector in India.
(A) (A)istrue and (R) is false
(B) (A) is false and (R) is true
(C) (A)
(D) (A)

A) and (R) are true

A) and (R) are false

Arrange the facts of job description in
order:

1. Job summary

2. Relation to other jobs

3. Supervision received

4. Machines, tools and materials
5

. Comments adding to and clarifying
the above

Job identification
Working condition

Duties performed

© © N O

Definitions of unusual terms

(A) 6,1,8,3,2,4,7,9and 5
(B) 1,6,3,8,2,4,5,7and 9
(C) 6,1,3,8,4,2,9,7and 5

)
)
)
(D) 6,1,3,4,8,7,2,5and 9
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12. Arrange Behaviourally Anchored Rating

13.

Scales (BARS) steps in sequence :

1. Assigning scale values to the
incidents

Identify performance dimensions
Introducing the final instrument

Collect critical incidents

o > 0D

Reclassification of incidents

(A) 4,2,5,1and 3
(B) 4,3,5,1and 2
(C) 4,2,3,5and 1

(D) 4,5,83,2and 1

Arrange the following sources of
recruitment in traditionally followed by
modern recruitment

1. Campus recruitment

2. Retired employees

3. Consultants

4. Professional Associations

5. Dependents of deceased

(A) 5,2,3,1and 4
(B) 2,3,5,4and 1
(C) 2,5,1,3and 4

(D) 2,5,3,1and 4
Paper Il



14. Fouzrs FEHT RN SRFIHTY,

dd%go:

5

w0~

TR0

o

DO

3,4,5,1 22
3,5,4,2 353 1
4,3,5,1 3032
2,3,4,5 353 1

A
B
C

(
(
(
(D

s N

15. ZR0QR WD :

= -1
e

1. 5@%3 #megﬁeﬁo a.

3. Qe Ress, c.

4. gz d.

RoFeSNTH :
1 2

~— N —

o0 0o
O O O T W
o O T o b

(
(
(
(

o0w>
0T OO

)
Paper Il

R0E3F R 808 BRAFESFS
FOTRDEIT oja%ﬁ#% TSRO
TOTSF D BOTV RRBITY)T

T OTP R a’aa’g

QDT TS

DT BNRTO WO LT, OONT T
wh ) 2 £l

mi -2
@m%eig mé_%
BRBREBIT 005
2000 280N

00 80, 056500

) mg?,s;@émﬁ

300 &3S
CRONS wﬁ\
UIORAEYTD
#o:}boja SAY

RO RS
@oees #@Jeiﬁ%ﬁo

emci@ageﬂojo iﬁ)}éﬁé

Total Number of Pages : 32

16. TRoQR WITOWD:

A

1. BeR0D @c%ojaé a.

2. 3030 Q=n3m b,
3. 3oR% @@Fﬁwﬁeﬁo C.
4. 3R d.
w&a%mws
Tode3ned :
12 3 4

FOR Ve &R
Qﬁﬁ% TR

0]
%eam%r BRID
ROLNS BT

308 A ORO
BPQT T3
QBT FURNSN
FOWORTOZ

FORT DBeRES
RO, RWOTEIRITOO
RO BHFS
QGRINTY,
SFRTR BRTZT
Ebtbro,—-:& %@#@
WORRT TEPF 02

S3ra e
BB

K-1016



OO Y Total Number of Pages : 32

14. Arrange the following steps in their 16. Match the following :
sequence while conducting an interview :
1. Guide the interview A B
2. Check the success of interview 1. Motion Study a. Statement of
3. Open the interview minimum
4. Get complete and accurate acceptable
information human qualities
5. .Record. observations and necessary to
impressions ,
(A) 3,4,5,1and2 (B) 3,5,4,2and 1 perform a job
(C) 4,3,5,1and2 (D) 2,3,4,5and 1 2. Job b. Process of
Description determining the
15. Match the following : worth of a job in
List—I List—II relation to other
1. Morale a. Record jobs
Surveys accumulation
over a period 3. Job c. Analysing a job to
on indifference Specification recommend
f’ind - easy, effective
irresponsibility .
and economic
2. Absenteeism b. Monitoring method
previous
counselling 4. Job d. Organized factual
sessions for Evaluation statement of
early warning duties and
3. Number of c. Surveys on responsibilities of
Grievances sundry subjects a specific job
of interest to the
organisation Codes :
4. The Future d. Employee 1 2 3 &4
morale
Codes : (A)c a b d
1234 (B)c b d a
(A)c a b d
B)c a d b C)b ¢ a d
(C)c b d a
D)b ¢ a d (D)c d a b
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17. Match the following Business Game with

their Utility :

List -1

List—II

1. Case study a. Situational

2. Role play

3. In-basket

4. Sensitivity

5. Simulation

Codes :
1 2 3
(A)d e a
(B)d a e
(C)e d b
(D)a c d
K-1016

judgement, social
relations, decision
making skills,
problem solving
skills

b. Degree of
openness, concern
for others, tolerance
for individual
differences

c. Encountering skills

d. Analytical
judgement and
decision skills

e. Human relation
skills

D

Total Number of Pages : 32

Direction : Read the para given below and
answer the question numbers 18 and 19 :

Specific information on productivity, wherever
it is adopted to a problem is the best control
point for a training program. However, often
the objectives of training program are tangible.
For example how is the effectiveness of
human relation training program for first line
supervision measured. This is a subjective
area and managers are recommended to deal
with concrete results by observing the trainee
in action or receiving reports from others with
whom they come in contact with.

18. Which is the best control point for a
problem ?

(A) Specifications on productivity
(B) Information on productivity

(C) Productivity characteristics
(D)

D) Specific information on productivity

19. Concrete results by observing a trainee
in action or while receiving reports with
whom he or she comes in contact is
used to

(A) Measure human relations training
program

(B) Measure human relations program

(C) Measure effectiveness of human
relations training program

(D) Measure effectiveness of training
program

Paper Il
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20.

21,

22.

23.

A Marketer is someone who seeks a
response — attention, a purchase, a vote,
a donation — from another party is called

(A) Buyer
(B)
(C) Prospect
(D)

Customer

Consumer

Consumers dislike the product and
may even pay to avoid it, this state of
demand is

(A) Non-existent Demand
(B) Declining Demand

(C) Full Demand
(D)

D) Negative Demand

Companies that produce many
products for many markets may adopt a
______ organisation employing both
product and market managers.

(A) Geographic

(B) Matrix
(C) Product
(D)

D) Functional

market share is sales as a
percentage of the total sales to the
market.

(A) Relative
(B) Served
(C) Overall
(D) Company
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24,

25.

26.

Total Number of Pages : 32

In adoption process ____
traditional bound and resist the
innovation.

(A) Early adopters

B) Innovators

(B)
(C) Laggards
(D)

D) Late majority

Four P’s of Traditional Marketing
|. Product, Price

Il. Place, Promotion

lll. Professional, Professor

IV. Performance, People

Codes :
(A) land Il are correct

B) Il and Ill are correct

(B)
(C) lland I are correct
(D)

D) IV and Il are correct

In Modern Marketing Management
additional Four P’s are

I. Product, Promotion
Il. People, Process
Ill. Place, Price
IV. Programmes, Performance

Codes :

(A) land Il are correct
(B) lland IV are correct
(C) llland 1V are correct
(D) IV and | are correct
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28.

Psychographic segmentation is based on
l. Psychological/Personality traits
Il. Life style or values

lIl. Gender Income, Occupation

IV. Region, Occasions

Codes :

(A) land Il are correct
(B) llandll are correct
(C) Ml and 1V are correct

(D) IV and | are correct

Which are the three criteria that determine
whether a brand association can truly
function as a point of difference ?

l. Desirability

Il. Deliverability
lIl. Differentiability
IV. Dependability

Codes :

(A) I, lland IV are correct
(B) I, lland lll are correct
(C) I, lNand 1V are correct

(D) I, llland |V are correct
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Identify the five stages of Consumer
Buying Process in the order

(A) Problem recognition, Purchase
decision, Evaluation of alternatives,
Information search, Post purchase
behaviour

(B) Problem recognition, Information
search, Evaluation of alternatives,
Purchase decision, Post purchase
behaviour

(C) Information search, Evaluation of
alternatives, Post purchase
behaviour, Purchase decision,
Problem recognition

(D) Evaluation of alternatives,
Information search, Problem
recognition, Post purchase
behaviour, Purchase decision

Successive sets involved in consumer
decision making are in a particular
order. ltis

(A) Decision, Choice set, Awareness
set, Consideration set, Total set

(B) Consideration set, Total set,
Awareness set, Choice set,
Decision

(C) Choice set, Consideration set,
Awareness set, Decision, Total set

(D) Total set, Awareness set,
Consideration set, Choice set,
Decision
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Hypothetical market structure, based on
lead position of the players, is in the
order of

(A) Market nicher, Market follower,
Market leader, Market challenger

(B) Market leader, Market challenger,
Market follower, Market nicher

(C) Market leader, Market follower,
Market nicher, Market challenger

(D) Market challenger, Market leader,
Market follower, Market nicher

Steps in setting a pricing policy contains

particular order. That is

(A) Selecting the pricing objective,
Estimating costs, Selecting a
pricing method, Selecting the final
price, Analyzing competitor’s costs,
Prices and offers, Determining
demand

(B) Selecting the pricing objective,
Determining demand, Estimating
costs, Analyzing competitor’s costs,
Prices and offers, Selecting a pricing
method, Selecting the final price

(C) Selecting a pricing method,
Selecting the final price, Estimating
costs, Selecting the pricing
objective, Determining demand,
Analysing competitor’s costs,
Prices and offers

(D) Estimating costs, Analyzing
competitor’s costs, Prices and
offers, Selecting a pricing method,
Selecting the final price,
Determining demand, Selecting the
pricing objective
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Assertion (A) : Products need to pass
through the sequential stages of life
cycle at market area.

Reasoning (R) : Salt doesn’t go through
the stages of product life cycle.

(A) Both (A) and (R) true, but (R) is not
the correct explanation of (A)

(B) Both (A) and (R) are false

(C) Both (A) and (R) are true but (R) is
the correct explanation of (A)

(D) (A) is false but (R) is true

Assertion (A) : Advertising aims at
various objectives ranging from creating
awareness among potential buyers to
remind them to go for repeat purchases.

Reasoning (R) : Advertisement in any

company alone doesn’t increase sales

volume of the products.

(A) Both (A) and (R) are true but (R) is
not correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
correct explanation of (A)

(C) (A)is true and (R) is false

(D) (A) is false and (R) is true

Assertion (A) : Market gets segmented
based on demographic variables.

Reasoning (R) : Gender plays a
significant role in market segmentation.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is
not correct explanation

(C) (A)istrue, (R)is false
(D) (A)is false, (R) is true
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36.

37.

K-10

Assertion (A) : Various levels of
distribution channels enable smooth
delivery of goods to reach the end
consumers.

Reasoning (R) : Array of goods made
available by retail chains to end
consumers are the result of different levels
of distribution channels operations.

(A) (A)istrue, (R)is false

(B) Both (A) and (R) are false

(C) Both (A) and (R) are true

(D) (A) is false, (R) is true

Match the customer needs and
pertaining explanation with an example
of purchasing of a car.

Types Explanation
of Need
1. Stated  a. The customer wants
needs his/her friends see him/
her as a savvy consumer
2. Real b. The consumer wants
needs an inexpensive car
3. Unstated c. The customer would
needs like the dealer to include
an onboard GPS
navigation system
4. Delight d. The customer expects
needs good service from the
dealer
5. Secret  e. The customer wants a
needs car whose operating
cost, not initial price is
low
Codes :
12 3 4 5
A)e d a b c
B)b e d c a
(Cab c¢c d e
(D)c a b d e
16

38.

39.

Total Number of Pages : 32

Match the Fashion Trends with their
Characteristics :

Fashion Trends Characteristics

1. Fad a Slow to form,
stays longer

2. Trend b. Unpredictable,
short lived

3. Megatrend c. More durable
and durable

Codes :

1 2 3

(A)b ¢ a

B)c b a

Ca b c

(D)a c¢ b

Match the Maslow’s Hierarchy of Needs
and their Explicit Meanings :

Needs Explicit Meaning
1. Self a. Security,
actualization protection
2. Esteem b. Sense of
belonging, love
3. Social c. Self development
and realization
4. Safety d. Self esteem,
recognition, status
5. Physiological e. Food, water,
shelter
Codes :
1 2 3 4 5
A)c d b a e
B)a b ¢ d e
C b d a c¢c e
(D)d a b e ¢
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Direction : Read the para given below and
answer the question numbers 40 and 41 :

Firms manufacturing a variety of products and
brands often establish a product or brand
management organisation. A group product
managers supervises product category
managers, who in turn supervise specific
product and brand managers. A product
management organisation is appropriate if the
company’s products are quite different.

40.

41.

42,

A group product manager supervises
(A) Production Category Manager
(B) Product Manager

(C) Product Category Manager

(D) Market Category Manager

A product management organisation is
appropriate if the company’s products are

(A) Absolutely different
(B) Distinctively different
(C) Definitely different
(D) Quite different

Which approach of dividend policy
states that the stock value responds
positively to higher dividends and
negatively when there are lower
dividends ?

(A) Traditional position
(B)
(C) Gordon model
D)

(

Walter model

M. M. position

K-1016
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Which of the following appraisal criteria
does not take into account the remaining
cash flows once the initial investment
is recovered ?

(A) IRR

(B) Accounting rate of return
(C) Payback period

(D) NPV

The marketvalue of the firm is the result of
(A) Dividend decisions

B) Working capital decisions

D

(B)
(C) Trade-off between cost and risk
(D) Trade-off between risk and return

Which of the following types of risk is
not a systematic risk ?

A) Credit risk

B) Interest rate risk

C) Purchasing power risk

(
(
(
(D

)
)
)
) Market risk

The Security Market line shows
relationship between the

(A) Expected rate of return and
diversified risk

(B) Realized rate of return and beta

(C) Required rate of return and
unsystematic risk

(D) Expected rate of return and beta
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50.

According to the Black and Scholes
option pricing model, an increase in the
term to expiration will

(A) Decrease the value of the call option
(B) Decrease the value of the put option
(C) Increase the value of a put option
(D)

D) Not have an impact on the option
value

Which of the following is not a cost of
maintaining receivables ?

(A) Administrative cost
(B) Defaulting costs
(C) Collections costs
(D)

D) Marketing costs

If maturity of bond lengthens, what
happens to the volatility of bond ?

(A) Increases

(B) Decreases

(C) Remains unchanged
(D)

D) Sometimes increases, sometimes

decreases

An option to buy a stated number of
shares at a specified price is called

(A) Call option
(B) Straddle
(C) Warrant
(D) Put option
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Arbitrage Portfolios can be formed
using
(A) Index Futures
(B) Index Option
(C) Interest rate swaps
(D) Both (A) and (B)

An increase in which of the following
will increase the return on equity, or else
is constant ?

i. Sales

ii. NetIncome
iii. Depreciation
iv. Total equity

(A) i, ii and iii only
(B) ii and iii only
(C) iandiionly
(D) i and iii only

A bond has a market price that exceeds
its face value. Which of the following
features currently apply to this bond ?

i. Discounted price
ii. Premium price

iii. Yield-to-maturity that exceeds the
coupon rate

iv. Yield-to-maturity that does not
exceed the coupon rate

(A) ii only

(B) i and iii only
(C) ii and iv only
(D) ii and iii only
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54.

55.

56.

Which of the following will increase the
net income of a profitable firm ?

i. Decreasing the depreciation

ii. Increasing the variable cost per unit
iii. Decreasing fixed cost
iv. Increasing revenue

(A) iii and iv only
(B) i, ii and iv only
(C) i, ii and iii only
(D) i, iii and iv only

Which of the following are included in
efficient market hypothesis ?
i. Weak form of the efficient market
hypothesis
ii. Semi-strong form of the efficient
market hypothesis
iii. Strong form of the efficient market
hypothesis
Excellent form of the efficient market
hypothesis
i, it and iv (B) i, iiiand iv
(D) i, ii and iii

Assertion (A) : The liability of
shareholders in a private limited
company is limited to the amount unpaid
on shares.

Reason (R) The number of

shareholders of a private limited

company is limited to fifty.

(A) Both (A) and (R) are individually true
and (R) is the correct explanation

of (A)

(B) Both (A) and (R) are individually true
but (R) is the not correct explanation
of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

K-1016
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57.

58.

59.
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Assertion (A) : Investors in the capital
market have been showing a decisive
shift in favour of fixed income
instruments.

Reasoning (R) : The debt instruments

have active secondary market.

(A) Both (A) and (R) are individually true
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true
but (R) is not correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : The floating policy
protects the policy holder against
errors and omissions.

Reasoning (R) : Goods are insured

even if the policy holder fails to report

that goods have already forwarded from

the place of shipment.

(A) Both (A) and (R) are individually true
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true
but (R) is not correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Calculate the expected rate of return for
a stock from the following information.

Price at the beginning of the year = Rs. 156
Dividend paid at the end of the

year = Rs. 9, Price at the end of the
year = Rs. 211.
(A) 40% (B) 41%
(C) 35% (D) 36%
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60. Match the following :

List—1
a. Bull 1.
b. Bear 2.

c. Lame Duck 3.

d. Stag 4.
Codes :
a b c¢c d

K-1016

List—II

Agrees to sell on a
fixed date but finds it

difficult to meet his
commitment

Buys the shares to
sell them in future
expecting a price
rise

Neither buys nor
sells but merely
applies for shares to
sell at a premium

Agrees to sell on a
fixed date expecting
a fall in the price

61.

62.

63.

Total Number of Pages : 32
Match the following :

List -1 List—1I
a. Intrinsic Value 1. Market Value +
Book Value

b. Economic Value 2. Value given in
Balance Sheet

c. Book Value 3. Present Value

d. Fair Value 4. Assets —
Depreciation =
Net assets

Codes :

ab c¢c d

A1 2 3 4

B)4 3 2 1

2 3 4 A1

D)1 3 2 4

When countries form large trading
blocks like the European Union, the size
of the block has the effect of improving
their

(A) Balance of Payment

(B) Comparative Advantage
(C) Terms of Trade

(D) Balance of Trade

If a group of countries abolish trade
barriers between them and set the same
tariffs on goods coming in from other
countries, they are a

(A) Free Trade Area
(B) Customs Union

(C) Federation

(D) Common Market
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64. David Ricardo’s theory in favour of Free
Trade uses the idea of

(A) Mutual advantage

(B) Comparative advantage
(C) Absolute advantage
(D)

D) Multilateral advantage

65. Which of the following transactions is

included in the current account balance

of payment statement ?

(A) Foreign Direct Investment

(B) Portfolio Investment

(C) External Commercial Borrowing

(D) Dividends earned on portfolio
investment

66. Which of the following happens when

the Central Bank increases open market

purchase ?

(A) Aggregate supply decreases
(B) Rate of inflation increases
(C) Interest rate will increase
(D)

D) Aggregate demand decreases

67. Which of the following issues was not

considered in the Uruguay round ?
(A) Tariffs

(B) Intellectual Property
(C) Agriculture

(D) Migration

K-1016
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68. A nation wishing to reduce its current
account deficit would be advised to

(A) Engage in more government
spending

(B) Reduce government taxes

(C) Increase private investment

spending

(D) Decrease domestic consumption
spending

69. Which of the following statements is not
true regarding exchange rate ?

i. Incase of direct quotation, the lower
of the two rates is the buying rate
and the higher is the selling rate.

ii. In case of indirect quotation, the
highest of the two rates is the buying
rate and the lower rate is the selling

rate.
iii. In case of direct quotation, higher
of the two rates is the buying rate

and the lower is the selling rate.

. In case of indirect quotation, lower
of the two rates is the buying rate
and the higher rate is selling rate.

(A) i and i
(B) iand iv
(C) ii and i
(D) iii and iv
Paper Il
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71.

72.
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70.

71.

72.

A specification of a maximum amount
of foreign goods that will be allowed to
enter the country, over a given time
period, is referred to as

(A) Domestic subsidy
(B) Export subsidy

(C) Import quota
(D)

D) Export quota

Regional Trade Agreements
(A) Are the same for all countries

(B) Reduce trade barriers equally in all
countries

(C) Margin of preference obtained only
by negotiating countries over
countries that are not part of the
agreement

(D) Favour developed countries

Export Processing Zones are converted
into

(A) Economic Export Zones
(B) Special Export Zones
(C) Special Economic Export Zones

(D) Foreign Trade Zones

73.

74.

75.

Total Number of Pages : 32

Economic Integration occurs

(A) When countries are granted most
favoured nation status

(B) When two or more nations join to
form a free-trade zone

(C) When countries develop acquired,
comparative advantage that makes
their industries more competitive in
international markets

(D) When one country voluntarily
agrees to reduce its exports to
another country

Which is the most traditional and well
established form of foreign markets ?
(A) Joint Venture

(B) Exporting

(C) Franchising

(D) Importing

Match the following :

List—I List—1I
1. Commercial a. Customs
Invoice Authority
2. Bill of Lading b. Uruguay
Round
3. Shipping Bill c. Shipping
Company
4. GATT d. Exporter
Codes :
1 2 3 4
(A) d c¢c a b
(B) c a d b
(C)a ¢ b d
D)y d b c¢c a
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